Chilli Challenges – Year 4
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The total weight of 5 watermelons and 3 pineapples is 31kg. Each watermelon weighs 3kg more than each pineapple. Find the total weight of 4 watermelons.
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Three children calculated 7 x 6 in different ways.
Identify each strategy and complete the calculations.

Annie Bertie Cara used the
commutative law

7X6=7x5+ 7X6=7x7-

7x6= X

Now find the answer to 6 x 9 in three different ways.
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Multiply anumber by itself and then make one factor one more and the other one
less. What happens to the product?

Eg.
4x4=16 6x6=36
5x3=15 7x5=35

What do you notice? Will this always happen?
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Sally has 9 times as many football cards as Sam. Together they have 150 cards.
How many more cards does Sally have than Sam?
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The shape below is made from two rectangles.

Identify the perimeter of each of the two rectangles.

How many 1cm squares would fit into the smaller rectangle?
How many more squares fit into the larger rectangle?
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